Measure Length

1. Match the measurement to the toy
object.

4. Mariam and Alex are measuring the
length of a straw.
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Measure Length

1.A.6cm;B.10cm; C. 9cm
2.A.4cm;B.8cm

3.A.10cm;B. 6 cm

4. Mariam is correct. She has seen that one end of the straw is lined up with the 0 cm

mark on the ruler and that the other end reaches the 7 cm mark.

5.6cm;7cm;8cm; 9cm; 10 cm
6. C is incorrect. Sam has not lined the end of the pen up with the 0 cm mark on the ruler.

This means his measurement will be wrong.
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